N of associated (recoToSim) looper tracks vs normalized X’

| N of associated (recoToSim) tracks vs normalized x? |

[N of reco track vs normalized x2

track x?

berset

o

0924 6 8 10 12 14 16 18 20

18 20

16

14

12

track x2

Syoel) ayed

El =3
I1dnp bney

B T
=

18 20

16

14

12

track x2

<

o
syoel dyey

o
S =]

i3 3 b

18 20

14 16

12

10

track x2
CRF_TT_base_nosel
CKF_TT_baseT125_noSel

DQM
DQM_

[T

o
syoeX ani

4 3
o o
=1 —

syoen

<
[=}
-

)
o
—

&
o
—

2
oney

5}

N of reco track vs.

[S]

0.95/

At




	Contents
	Page 1


